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Summer 2015. Exam 1. QQ 1-3

In one mole or 18 grams
of water, the total negative
charge of all the electrons
is:

a. zero because its
electrically neutral.

b. less than one C

¢. almost 100,000 C.

d. almost one million C.
e. none of these

Consider a small, conducting
sphere of 0.0010 kg mass.
Extra electrons are placed on
this sphere and on an
identical sphere 3.0 m below
it so the repulsion between
these extra electrons provides
a force equal to the weight of

the top sphere. How many
electrons must be added to
each sphere?

a. 50x10-25

b. 3.1x10-6

(S 20x1013

d 39x1013

e none of these

If the symbols | and [
are used to represent a
pair of charged plates,
in the sketch below,

+] [-

the field between the
two plates would be
directed:

a. upward.

b. to the left.

¢. to the right.

d. zero, so its direction
is without meaning.

¢. none of these

Summer 2015. Exam 1. QQ 4-6

M‘W' 5) Charge is distributed
uniformly along a metal

W‘ surfaoe.)}he e?ectric field

WM .| 2 cmfrom the surface is

fagnitude-of-the-eleetrie | 5 \/C The electric field 4

fold-ir-hiC-iuectouteido cm from the surface is:

i 120 N/C

+ 0 2. 80N/C

2. 4t 3. 40NIC

8- 000 4. 10NC

; ﬁg 5. None of the above

6) A 3.5-cm radius
hemisphere contains a
total charge of 8.85 x
107 C. The flux
through the rounded
portion of the surface
is9x 10*N - m?/C.
The flux through the
flat base is:

1. 1x10'N-m?/C

2. 223x10*'N-m?/C
3. 98x10'N-m’/C
4. +98x 10°N-m?/C
5.

None of the above




